
Maths-2 

Word Problems 

Example: Disha has 26 books and Anu has 18 books. How many books do they have in 

all? 

               Statement                                                       Rough 

No. of books Disha has 26.                                                 T   H 

No. of books Anu has 18.                                                    1 

Therefore, total number of books they have.                       2  6 

          26 + 18= 44 books.                                                + 1  8 

                                                                                             4 4 

 

Solve the problems. Do them in your Maths copy. 

Q1. Raj has 524 stamps. Riya has 413 stamps. How many stamps do they 

have altogether? 

Q2. Sunny has 248 chocolates. Raghav has  476 chocolates. How many 

chocolates are there altogether? 

Q3. Do Worksheet no.4 and 6 in your Maths workbook. 

                                                   


